This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 4 - Livingston South

8,216

4

1,644

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Lawrence FITZPATRICK	Scottish Labour Party	2,228
Jayne GLASS	Scottish Green Party	200
Peter HEGGIE	Scottish Conservative and Unionist	1,594
Peter Joseph Barrett Andrew JOHNSTON	Scottish National Party (SNP)	1,700
Danny LOGUE	Scottish Labour Party	691
Jill PATTLE	Scottish Liberal Democrats	144
Moira SHEMILT	Scottish National Party (SNP)	1,070
Annmargaret WATSON	Scottish National Party (SNP)	589
	Total	8,216

Candidate Lawrence FITZPATRICK Elected with 2,228 votes, being in excess of the quota of 1,644
Candidate Peter Joseph Barrett Andrew JOHNSTON Elected with 1,700 votes, being in excess of the quota of 1,644

This report contains the transfers results.

Stage 2 - Surplus of Lawrence FITZPATRICK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lawrence FITZPATRICK	0	0.00000	0.00000
Transfer to Jayne GLASS	81	0.26211	21.23091
Transfer to Peter HEGGIE	303	0.26211	79.41933
Transfer to Peter Joseph Barrett Andrew JOHNSTON	0	0.00000	0.00000
Transfer to Danny LOGUE	1,486	0.26211	389.49546
Transfer to Jill PATTLE	39	0.26211	10.22229
Transfer to Moira SHEMILT	148	0.26211	38.79228
Transfer to Annmargaret WATSON	17	0.26211	4.45587
Value of non-transferable ballot papers			40.38386
	 Total		584.00000

This report contains the transfers results.

Stage 3 - Surplus of Peter Joseph Barrett Andrew JOHNSTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lawrence FITZPATRICK	0	0.00000	0.00000
Transfer to Jayne GLASS	60	0.03294	1.97640
Transfer to Peter HEGGIE	0	0.00000	0.00000
Transfer to Peter Joseph Barrett Andrew JOHNSTON	0	0.00000	0.00000
Transfer to Danny LOGUE	89	0.03294	2.93166
Transfer to Jill PATTLE	22	0.03294	0.72468
Transfer to Moira SHEMILT	1,271	0.03294	41.86674
Transfer to Annmargaret WATSON	146	0.03294	4.80924
Value of non-transferable ballot papers			3.69128
	Total		56.00000

This report contains the transfers results.

Stage 4 - Surplus of Peter HEGGIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lawrence FITZPATRICK	0	0.00000	0.00000
Transfer to Jayne GLASS	19	0.00460	0.08740
Transfer to Jayne GLASS	120	0.01758	2.10960
Transfer to Peter HEGGIE	0	0.00000	0.00000
Transfer to Peter Joseph Barrett Andrew JOHNSTON	0	0.00000	0.00000
Transfer to Danny LOGUE	149	0.00460	0.68540
Transfer to Danny LOGUE	420	0.01758	7.38360
Transfer to Jill PATTLE	38	0.00460	0.17480
Transfer to Jill PATTLE	300	0.01758	5.27400
Transfer to Moira SHEMILT	11	0.00460	0.05060
Transfer to Moira SHEMILT	34	0.01758	0.59772
Transfer to Annmargaret WATSON	2	0.00460	0.00920
Transfer to Annmargaret WATSON	15	0.01758	0.26370
Value of non-transferable ballot papers			12.78331
	Total		29.41933

This report contains the transfers results.

Stage 5 - Exclusion of Jill PATTLE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lawrence FITZPATRICK	0	0.00000	0.00000
Transfer to Jayne GLASS	4	0.00460	0.01840
Transfer to Jayne GLASS	53	0.01758	0.93174
Transfer to Jayne GLASS	4	0.03294	0.13176
Transfer to Jayne GLASS	11	0.26211	2.88321
Transfer to Jayne GLASS	46	1.00000	46.00000
Transfer to Peter HEGGIE	0	0.00000	0.00000
Transfer to Peter Joseph Barrett Andrew JOHNSTON	0	0.00000	0.00000
Transfer to Danny LOGUE	7	0.00460	0.03220
Transfer to Danny LOGUE	86	0.01758	1.51188
Transfer to Danny LOGUE	1	0.03294	0.03294
Transfer to Danny LOGUE	15	0.26211	3.93165
Transfer to Danny LOGUE	40	1.00000	40.00000
Transfer to Moira SHEMILT	1	0.00460	0.00460
Transfer to Moira SHEMILT	4	0.01758	0.07032
Transfer to Moira SHEMILT	9	0.03294	0.29646
Transfer to Moira SHEMILT	17	1.00000	17.00000
Transfer to Annmargaret WATSON	4	0.01758	0.07032
Transfer to Annmargaret WATSON	3	0.03294	0.09882
Transfer to Annmargaret WATSON	3	1.00000	3.00000
Value of non-transferable ballot papers			44.38147
	Total		160.39577

This report contains the transfers results.

Stage 6 - Exclusion of Jayne GLASS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lawrence FITZPATRICK	0	0.00000	0.00000
Transfer to Peter HEGGIE	0	0.00000	0.00000
Transfer to Peter Joseph Barrett Andrew JOHNSTON	0	0.00000	0.00000
Transfer to Danny LOGUE	8	0.00460	0.03680
Transfer to Danny LOGUE	40	0.01758	0.70320
Transfer to Danny LOGUE	6	0.03294	0.19764
Transfer to Danny LOGUE	36	0.26211	9.43596
Transfer to Danny LOGUE	69	1.00000	69.00000
Transfer to Jill PATTLE	0	0.00000	0.00000
Transfer to Moira SHEMILT	2	0.00460	0.00920
Transfer to Moira SHEMILT	7	0.01758	0.12306
Transfer to Moira SHEMILT	34	0.03294	1.11996
Transfer to Moira SHEMILT	16	0.26211	4.19376
Transfer to Moira SHEMILT	94	1.00000	94.00000
Transfer to Annmargaret WATSON	3	0.01758	0.05274
Transfer to Annmargaret WATSON	4	0.03294	0.13176
Transfer to Annmargaret WATSON	1	0.26211	0.26211
Transfer to Annmargaret WATSON	18	1.00000	18.00000
Value of non-transferable ballot papers			78.10323
	Total		275.36942

This report contains the transfers results.

Stage 7 - Exclusion of Annmargaret WATSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lawrence FITZPATRICK	0	0.00000	0.00000
Transfer to Jayne GLASS	0	0.00000	0.00000
Transfer to Peter HEGGIE	0	0.00000	0.00000
Transfer to Peter Joseph Barrett Andrew JOHNSTON	0	0.00000	0.00000
Transfer to Danny LOGUE	1	0.00460	0.00460
Transfer to Danny LOGUE	2	0.01758	0.03516
Transfer to Danny LOGUE	6	0.03294	0.19764
Transfer to Danny LOGUE	4	0.26211	1.04844
Transfer to Danny LOGUE	23	1.00000	23.00000
Transfer to Jill PATTLE	0	0.00000	0.00000
Transfer to Moira SHEMILT	3	0.01758	0.05274
Transfer to Moira SHEMILT	123	0.03294	4.05162
Transfer to Moira SHEMILT	4	0.26211	1.04844
Transfer to Moira SHEMILT	554	1.00000	554.00000
Value of non-transferable ballot papers			36.71512
	Total		620.15376